
OPERATION BY CRANK / GEAR

GEARS

	 GEAR	 RATIO	 MAX TORQUE	 INPUT	 OUTPUT	 END-LIMIT	 REFERENCE

	  	 1/5	 10,6 Nm	 Square 6	 Square 10	 yes	 2002028

	  	 1/5	 10,6 Nm	 Square 6	 Square 7	 yes	 2002010

	  	 1/5	 8 Nm	 Square 8	 Square 10	 yes	 2002107

	  	 1/5	 10,6 Nm	 Hexa 7	 Square 10	 yes	 2002018

	  	 1/5	 8 Nm	 Hexa 7	 Square 16	 no	 2002143

	  	 1/11,5	 20,8 Nm	 Square 8	 Square 13	 yes	 2002118

	  	 1/5	 10,6 Nm	 Hexa 7	 Square 10	 yes	 2002030

	  	 1/5	 10,6 Nm	 Square 6	 Square 10	 yes	 2002012

	  	 1/5	 8 Nm	 Square 8	 Square 13	 yes	 2002108

	  	 1/8	 12 Nm	 Haxa 10	 Square 10	 yes	 2002115

	  	 1/7	 14,2 Nm	 Square 6	 Square 10	 yes	 2002033

	  	 1/8	 12 Nm	 Hexa 7	 Square 16	 yes	 2002144

	  	 1/11,5	 20,8 Nm	 Square 8	 Square 16	 yes	 2002119

	  	 1/7	 14,2 Nm	 Square 6	 Square 10	 yes	 2002038

	  	 1/5	 10,6 Nm	 Hexa 6	 Square 7	 yes	 2002013

	  	 1/5	 8 Nm	 Hexa 7	 Square 10	 yes	 2002139

	  	 1/11,5	 20,8 Nm	 Square 8	 Square 10	 yes	 2002117

	  	 1/7	 14,2 Nm	 Hexa 7	 Square 10	 yes	 2002035

	  	 1/8	 12 Nm	 Hexa 7	 Square 16	 no	 2002145

	  	 1/11,5	 20,8 Nm	 Hexa 7	 Square 16	 yes	 2002146

	  	 1/7	 14,2 Nm	 Square 6	 Square 10	 no	 2002050

	  	 1/8	 12 Nm	 Square 8	 Square 13	 yes	 2002113

	  	 1/7	 14,2 Nm	 Hexa 7	 Square 10	 yes	 2002041

	  	 1/5	 10,6 Nm	 Hexa 7	 Square 7	 yes	 2002016

	  	 1/8	 12 Nm	 Hexa 7	 Square 10	 yes	 2002140

	  	 1/11,5	 20,8 Nm	 Hexa 7	 Square 10	 yes	 2004051

	  	 1/7	 14,2 Nm	 Hexa 6	 Square 7	 no	 2002037

	  	 1/8	 12 Nm	 Square 8	 Square 10	 yes	 2002112

	  	 1/11,5	 20,8 Nm	 Hexa 7	 Square 16	 no	 2002147

1420B gear

1420 gear

1424 gear

 	 		 Core : Male square 16 / hole 12 - gear side			   2002392
		             	 Male square 13 / Female square 7 - driving side
			   The gear and the core are separately sold



GEARS

	 GEAR	 RATIO	 MAX TORQUE	 INPUT	 OUTPUT	 END-LIMIT	 REFERENCE

	 GEAR	 RATIO	 MAX TORQUE	 INPUT	 OUTPUT	 END-LIMIT	 REFERENCE

	  	 1/5	 8 Nm	 Hexa 7	 Male square 13	 yes	 2001676

	  	 1/5,25	 12 Nm	 Hexa 7	 Square 10	 yes	 2008414

	  	 1/11	 18 Nm	 Square 8	 Male square 13	 yes	 2001681

	  	 1/5	 8 Nm	 Square 8	 Male square 13	 yes	 2001677

	  	 1/5,25	 12 Nm	 Hexa 7	 Square 10	 no	 2008415

	  	 1/5	 8 Nm	 Hexa 7	 Female square 10	 yes	 2001682

	  	 1/8	 12 Nm	 Hexa 7	 Male square 13	 yes	 2001678

	  	 1/7	 18 Nm	 Hexa 7	 Square 10	 yes	 2008416

	  	 1/5	 8 Nm	 Square 8	 Female square 10	 yes	 2001683

	  	 1/11	 18 Nm	 Hexa 7	 Male square 13	 yes	 2001680

	  	 1/8	 12 Nm	 Square 8	 Female square 10	 yes	 2001686

	  	 1/8	 12 Nm	 Square 8	 Male square 13	 yes	 2001679

	  	 1/7	 18 Nm	 Hexa 7	 Square 10	 no	 2008417

	  	 1/8	 12 Nm	 Hexa 7	 Female square 10	 yes	 2001685

 	 		  Core  : Square 10 / octa 15				    2003343
			   The gear and the core are separately sold

"ACE Resin" gear

1/5,25 gear

1/7 gear

DISENGAGEABLE GEARS

ATTENTION : THIS GEAR CANNOT BE USED WITH A BALACING SPRING

- Built-in disengaging system during closing and forced operation limiter during opening.
- Allows the use of locks to fasten the fabric on the rolling tube and locking systems on bottom or intermediate slat. 



 SPECIFICATION

	 SPECIFICATION	 1420 - 1420B	 1424	 ACE	 ACE 	 ACE	                  DISENGAGEABLE GEARS
				    (RATIO 1/5)	 (RATIO 1/8)	 (RATIO 1/11)	 1/5,25		  1/7

	 GEAR THICKNESS	 20 mm	 24 mm	 23 mm	 23 mm	 23 mm	 22 mm		 22 mm

	 FIXATION SCREW Ø	 5 mm	 6 mm	 6 mm	 6 mm	 6 mm	 4 mm	 	 4 mm

	 AXLE DISTANCE 
	 output/input	 29 mm	 33 mm	 25 mm	 27 mm	 32 mm	 28,5 mm		 40 mm

	 DRIVE HUB MATERIAL	 Steel	 Steel	 Zamac	 Zamac	 Steel	 Polyamide		  POM

	 BRAKE	 yes	 Adjustable	 yes	 yes	 yes	 yes		  yes

	 GEAR DIAMETER	 86 mm	 120 mm	 82 mm	 90 mm	 100 mm	 99 mm		 130 mm

	 						                           Glass fibre
	 CASING BOX MATERIAL	 Zamac	 Resin	 Resin	   Resin      	  Resin  	                   reinforced polyamide, 
							                         black

	INTER-AXLE OF THE FIXATION SCREW	 70 mm	 90 mm	 66 mm	 66 mm	 66 mm	 56 mm		 90 mm

	 MAXI TORQUE OF INPUT 	 3,5 Nm	 4,5 Nm	 3,5 Nm	 3,5 Nm	 3,5 Nm	 4,5 Nm		 4,5 Nm

	 SCREW MATERIAL	 Steel	 Steel	 Steel	 Steel	 Steel	 Polyacetal	   Treated steel

	 END-LIMIT CAPACITY	 17 rounds	 16 rounds	 15 rounds	 15 rounds	 15 rounds	 10 rounds		 10 rounds

➋

➌

➍

➎

➊

➋

➌

➍ ➎➊

INPUT

OUTPUT

THE MAXI. TORQUE AND LIMITS OF USE MENTIONED IN THIS CATALOGUE

…are given for information and vary according to each installation characteristic (in particular: type of slats, friction, 
conditions of installation,torque variations due to the kinematics and spring strength of each awning).
Neither the manufacturer nor the seller can be responsible for bodywork and material damage.
Recommendations for the use of tubes require careful attention as well (see profiler’s charts). Each awning and 
roller shutter manufacturer will have to test the products in order to determine his own selection charts.
Please ask us about any specific cases.

The  ACE GAVIOTA gears are designed for use with GAVIOTA SIMBAC universal joint.
Any other branded universal joint must be tested as we do not guarantee compatibility.



 GEAR ACCESSORIES

1420 GEAR BRACKET

1424 GEAR BRACKETS

ACE GEAR BRACKETS

	 BRACKET	 DESCRIPTION 	 REFERENCE	

	 BRACKET	 DESCRIPTION 	 REFERENCE	

	 	 Bracket for SIMU TRADITIONNAL SYSTEM	 2003603

		  Bracket for HEROAL RENOVATION SIDE-FRAME 	 2003639

		  Bracket for SIMU TRADITIONNAL SYSTEM	 2003610

		  Bracket for DOMINO (125 / 250) SIMBAC SIDE-FRAME - SIMBAC/GAVIOTA	 2003003

		  Bracket for STANDARD SIDE-FRAME  - SIMBAC/GAVIOTA	 2002645

Ø 86 mm

100 mm

100 mm

Ø 12 mm

115 mm

50 mm

100

100

DISENGAGEABLE GEAR BRACKETS
		

		  Bracket for RENOVATION SIDE-FRAME	 2008418
		  ZF ALURÉNO (125 / 150) 

59

96,8

42,5

3 trous Ø8 sur Ø90
2 trous Ø5,2 sur Ø90 (treuil 1424)

2 lumières Ø7,8 sur Ø56 
(treuil débrayable 1/5.25)

2 trous Ø11,3 sur Ø90 
(treuil débrayable 1/7)

85

85

59

96,8

42,5

3 holes Ø8 on Ø90
2 holes Ø5.2 on Ø90 (gear 1424)

2 holes Ø7.8 on Ø56 
(disengageable gear 1/5.25)

2 holes Ø11.3 on Ø90 
(disengageable gear 1/7)

85

85



DRIVING SQUARE

ROD

	 PRODUCT	  DESCRIPTION	 LENGTH	 PACKAGING	 REFERENCE	

	 PRODUCT	  DESCRIPTION 	 LENGTH A	 LENGTH B 	 REFERENCE	

		  Square 7	 length 41 mm  	 50	 2002503

		  Square 7	 length 30 mm 	 1	 2002513

		  Square 7	 length 30 mm 	 50	 2006407

		  Square 7	 length 35 mm 	 1	 2002502

		  Square 7	 length 35 mm 	 50	 2006405

		  Square 6 / Round 10 	 50 mm	 61 mm	 2002508

		  Round 10 	 50 mm	 -	 2002504

L
7 mm

7 mm

L B L A

L A

RING SET

HOOK

	 PRODUCT	 DESCRIPTION	 INPUT  	 REFERENCE

		   Ring set for direct assembly onto gear	 6mm square gear input 	 2004486
		

		   Ring set for direct assembly onto gear	 7mm hexa gear input 	 2004487

	 PRODUCT	 DESCRIPTION		  REFERENCE

 		  Hook for Ø 12mm crank rod.		  2004482
		  To be assembled with a sleeve. Ref. 2008132 or 2008133



NOTE 
The length of the crank rod corresponds to the length of the single rod, without the crank handle.

	 PRODUIT	 DESCRIPTION	 COLOR 	 ROD	 LENGTH	 REFERENCE

	 PRODUIT	 DESCRIPTION	 COLOR 	 ROD	 LENGTH	 REFERENCE

	  	 90° universal joint for Ø 12mm rod 	 White	 hexa 7 rod	 355 mm	 2008066

	  	 90° universal joint for Ø 12mm rod 	 White	 square 8 rod	 350 mm	 2008068

	  	 90° universal joint for Ø 12mm rod 	 Grey	 square 6 rod	 300 mm	 2008069

	  	 90° universal joint for Ø 12mm rod  	 White	 square 6 rod	 300 mm	 2008070

	  	 90° universal joint for Ø 12mm rod  	 Grey	 hexa 7 rod	 355 mm	 2008065

	  	 60° universal joint for Ø 12mm rod	 White	 hexa 7 rod	 315 mm	 2008071

	  	 60° universal joint for Ø 12mm rod 	 White	 square 8 rod	 315 mm	 2008073

	  	 60° universal joint for Ø 12mm rod	 Grey	 square 6 rod	 315 mm	 2008075

	  	 60° universal joint for Ø 12mm rod	 White	 square 6 rod	 315 mm	 2008072

	  	 60° universal joint for Ø 12mm rod 	 Grey	 hexa 7 rod	 315 mm	 2008074

 		  60° universal joint for Ø 12mm rod	 Grey	 square 8 rod	 315 mm	 2008076

 		  90° universal joint for Ø 12mm rod 	 Grey	 square 8 rod	 350 mm	 2008067

	 PLATE	 22 x 62 mm
	 FIXATION	 4 holes Ø 4,5 mm
	 INTER-AXLE	 13 x 53 mm
	 DELIVERED	 with 4 screws 3,9 x 19 and 1 screw M5

	 PLATE	 22,5 x 86 mm
	 FIXATION	 2 holes Ø 4 mm
	 INTER-AXLE	 73 mm
	 DELIVERED	 with 1 screw M5

60° UNIVERSAL JOINT - FOR Ø12 MM CRANK HANDLE

90° UNIVERSAL JOINT - FOR Ø12 MM CRANK HANDLE

	 PRODUCT	 DESCRIPTION	 COLOR 	 LENGTH		  REFERENCE
					     x 1	  	 x 10

	  	 Cranck handle and rod 	 White	 1800mm length	 2008124		  2008125

	  	 Cranck handle and rod 	 White	 1100mm length	 2008128		  2008129

	  	 Cranck handle and rod	 Grey	 1400mm length	 2008120		  2008121

	  	 Cranck handle and rod 	 White	 1400mm length	 2008126		  2008127

	  	 Cranck handle and rod 	 Grey	 1800mm length	 2008118		  2008119

 		  Cranck handle and rod	 Grey	 1100mm length	 2008122		  2008123

	 ROD	 Ø 12 steel rod, 1mm thickness
	  	 inside and outside phosphatized
	  	 exterior color with coated polyester 
	 CRANK HANDLE	 Lacquered aluminium crank, 180mm length 
		  Stainless steel joint axles, 320mm unfolded length

DRIVING CRANK ROD - Ø 12 MM

 		  90° universal joint for Ø 12mm rod 	 Nickelé	 hexa 7 rod	 355 mm	 2008550

 UNIVERSAL JOINT & ACCESSORIES FOR CRANK-HANDLE Ø12 MM



CRANK Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		  Single crank	 Grey	 2008077

		  Single crank	 White	 2008078

COVERING PLATE Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		  40 x 85mm plate for 90° universal joint 	 White	 9017284

COUPLING TUNNEL FOR CRANK ROD Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		  Zamak coupling tunnel + neckel-plated sleeve	 neckel-plated	 2008079
		  for Ø 12mm rod

CARDAN JOINT Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		  Ø 10mm / 12mm cardan joint	 White	 2008080

		  Ø 10mm / 12mm cardan joint	 Grey	 2008179

CRANK CLIP Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		  20 x 34mm crank clip	 White	 2008081

		  20 x 34mm crank clip	 Grey	 2008082



HOOK Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

 		  Hook for Ø 12mm crank rod.	 -	 2004482
		  To be assembled with a sleeve. Ref. 2008132 or 2008133

SLEEVE Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		   Sleeve to link a hook with a Ø 12mm crank rod	 White	 2008132
		
		
		   Sleeve to link a hook with a Ø 12mm crank rod	 Grey	 2008133

CARDAN JOINT SET Ø 12 MM - FOR DIRECT ASSEMBLY ON GEAR

	 PRODUCT	 DESCRIPTION	 COLOUR	 INPUT 	 REFERENCE

		  Cardan joint set	 White	 6mm square gear input 	 2008130
		
		  Cardan joint set	 White	 7mm hexa gear input 	 2008131

		  Cardan joint set	 Grey	 6mm square gear input 	 2008180
		
		  Cardan joint set	 Grey	 7mm hexa gear input 	 2008181

COVERING PLATE Ø 12 MM

	 PRODUCT	 DESCRIPTION	 COLOUR 	 REFERENCE

		   60 x 70mm plate for 60° universal joint with M4x8 screws	 White	 9017287
		

		  60 x 70mm plate for 60° universal joint with M4x8 screws 	 Grey	 9017286

RING Ø 12 MM

	 PRODUCT	 DESCRIPTION		  REFERENCE

		  Ring with tang 12mm		  2008551



 UNIVERSAL JOINT & ACCESSORIES FOR CRANK-HANDLE Ø14 MM

45° UNIVERSAL JOINT - FOR Ø14 MM CRANK HANDLE

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	  	 45° universal joint for Ø 14 mm rod	 Square 8	 250 mm	 2004104

	 PLATE	 24 x 52 mm
	 FIXATION	 2 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel

45° UNIVERSAL JOINT - FOR Ø14 MM CRANK HANDLE

90° UNIVERSAL JOINT - FOR Ø14 MM CRANK HANDLE

90° UNIVERSAL JOINT - FOR Ø14 MM CRANK HANDLE

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	  	 45° universal joint  for Ø 14 mm rod 	 Hexa 7	 250 mm	 2004105

	  	 90° universal joint for Ø 14 mm rod 	 Hexa 7	 480 mm	 2004118

	  	 90° universal joint for Ø 14 mm rod  	 Hexa 7	 480 mm	 2004122

	  	 90° universal joint for Ø 14 mm rod 	 Hexa 7	 480 mm	 2004120

	  	 45° universal joint  for Ø 14 mm rod 	 Square 8	 250 mm	 2004106

	  	 90° universal joint for Ø 14 mm rod 	 Square 8	 480 mm	 2004119

	  	 90° universal joint for Ø 14 mm rod 	 Square 8	 480 mm	 2004123

	 PLATE	 28 x 46 mm
	 FIXATION	 4 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel

	 PLATE	 22 x 85 mm
	 FIXATION	 2 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel (ref. 2004120 : Inox steel) 

	 PLATE	 42 x 85 mm
	 FIXATION	 4 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel



45° UNIVERSAL JOINT WITH RING

BEARING DOUBLE 90° UNIVERSAL JOINT WITH RING

CRANK HANDLE WITH HOOK Ø 14 MM

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	 PRODUCT	 DESCRIPTION	 ROD	 LENGTH	 REFERENCE

	 PRODUCT	 DESCRIPTION	 COLOUR	 QUANTITY	 LENGTH	 REFERENCE

	  	 45° universal joint with ring	 Hexa 7	 250 mm	 2004323

	  	 Bearing double 90° universal joint with ring	 Hexa 7	 480 mm	 2004324

	  	 Crank handle	 9010 white	 1	 1200 mm	 2006527

	  	 Crank handle	 7035 grey	 10	 1500 mm	 2006542

	  	 Crank handle	 9010 white	 10	 1500 mm	 2006532

	  	 Crank handle	 galvanised grey	 10	 1400 mm	 2006564

	  	 Hook 90° 	 galvanised grey	 10	 1100 mm	 2006576

	  	 Crank handle	 9010 white	 10	 1200 mm	 2006528

	  	 Crank handle	 galvanised grey	 10	 1200 mm	 2006562

	  	 Crank handle	 galvanised grey	 10	 1500 mm	 2006566

	  	 Hook 90°	 galvanised grey	 10	 1400 mm	 2006578

	 PLATE	 42 x 85 mm
	 FIXATION	 4 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel

	 PLATE	 22 x 85 mm
	 FIXATION	 2 holes
	 PLATE MATERIAL	 nickel-plated Zamac
	 CARDAN JOINT MATERIAL	 nickel-plated Steel

LACQUERED ALUMINIUM ROD Ø 14 MM

	 EXTERNAL Ø	 INTERNAL Ø	 THICKNESS	 COLOUR	 LENTGH	 REFERENCE

	 14 mm	 11 mm	 1,5 mm	 9003 white	 3000 mm	 2004171

ELASTIC PIN TO ASSEMBLE THE CRANK WITH Ø 14 MM ROD

	 PRODUCT	 DIAMETER	 LENGTH	 MATERIAL	 REFERENCE

		  Ø 4 mm	 14 mm	 inox steel	 2003341

14 



	  	 11 mm mâle	 180 mm	 370 mm	 white	 nickel-plated steel	 2004163

Assembly on rod by Ø 4 elastic pin, 14 mm length (ref. 2003341)

PUSH CRANK WITH ROUND CRANK WEB - Ø 14 MM

ALUMINIUM ROD WITH PUSH CRANK - ROUND CRANK WEB - Ø 14 MM

	 PRODUCT	 Ø	  CRANK WEB	 UNFOLDED WEB 	 HANDLE	 CARDAN JOINT	 REFERENCE
			   (LENGTH B)	 LENGTH	 COLOUR	 MATERIAL

	 PRODUCT	 CRANK WEB	 UNFOLDED CRANK	 ROD AND CRANK	 REFERENCE
		  (LENGTH B)	 LENGTH	 COLOUR	

	  	 140 mm	 1460 mm	 white	 2004127

	  	 180 mm	 1500 mm	 white	 2004131

	  	 180 mm	 1800 mm	 white	 2004132

B

Ø

B

CUT OFF CARDAN JOINT - Ø 14 MM
	 PRODUCT	 ROD SIDE	 OPPOSITE SIDE	 CARDAN JOINT	 REFERENCE
		  (LENGTH B)	 (LENGTH C)	 MATERIAL

		  Ø 14 mm (M4 screw)	 Ø 10,2 mm (pin)	 nickel-plated steel	 2004155

		  Ø 14 mm (M4 screw)	 Square 8 (pin)	 nickel-plated steel	 2004185

		  Ø 14 mm (M4 screw)	 Hexa 7 (pin)	 nickel-plated steel	 2004184

		  Ø 14 mm (M4 screw)	 Ø 14 mm (M4 screw)	 nickel-plated steel	 2004186

		  Ø 14 mm (M4 screw)	 Hexa 7	 nickel-plated steel	 2004403

BAYONET FOR Ø 14 MM CARDAN JOINT

	 PRODUCT	  	 SIZE REQUIRED	 MATERIAL	 REFERENCE

	  	  		  Ø 13,9 x 52 mm	 inox steel	 2001775

Assembly with universal joint by a M4 screw (delivered with the universal joint)

B

C

Ø 13,9 

52



	  	 64 mm	 nickel-plated Zamac	 2001776

Assembly on rod by a Ø 4 elastic pin, 18 mm length (ref. 2003342)

SQUEEZING CRANK CLIP FOR  Ø 14 MM ROD

ADJUSTABLE SQUEEZING CRANK CLIP FOR  Ø 14 MM ROD

ADJUSTABLE MAGNETIC CRANK CLIP FOR  Ø 14 MM ROD

	 PRODUCT	 ENTER-AXLE	 COLOUR	 MATERIAL	 REFERENCE

	 PRODUCT	 ENTER-AXLE	 COLOUR	 MATERIAL	 REFERENCE

	 PRODUCT	 ENTER-AXLE	 COLOUR	 REFERENCE

	  	 43 mm	 white	 PVC	 2001946

	  	 48 mm	 white	 PVC	 2001949

	  	 48 mm	 white	 2001953

	  	 43 mm	 grey	 PVC	 2001947

	  	 48 mm	 grey	 PVC	 2001950

					     2006403 (x 50)

COUPLING FUNNEL FOR Ø 14 MM ROD

	 PRODUCT	 LENGTH	 MATERIAL	 REFERENCE

+

Ø 32 

Ø 14 

64

30

Ø 14

43
48

28

48

23 43 (adjustable)

48 (adjustable)

Ø 14

18

Ø4



OPERATION BY BELT / PULLEY

PULLEY (only for 14mm belt)

	 PRODUCT	 DIAMETER	 DESCRIPTION	 REFERENCE

	  	 140mm	 Ø 140mm pulley, for octa 40-60 end cap with clips	 2001974

	  	 170mm	 Ø 170mm pulley, for octa 40-60 end cap with clips	 2001976

	  	 125mm	 Ø 125mm pulley, for octa 40-60 end cap with clips	 2001973

	  	 155mm 	 Ø 155mm pulley, for octa 40-60 end cap with clips	 2001975

END CAP FOR PULLEY SIDE

	 END CAP	 TUBE	 DESCRIPTION 	 REFERENCE	

		  Octa 40mm	 End cap for octa 40 tube, length 102, for Ø 28mm bearing 	 2003531

		  -	 Ø 28mm bearing /12	 2003455

		  Octa 60mm	 End cap for octa 60 tube, length 96, for Ø 28mm bearing 	 2003529

Maxi. tractive force, 8 Kg, (5 Kg recommended)



TAPE COILER (only for 14mm belt)

	 TAPE COILER	  	 DESCRIPTION 	 REFERENCE	

		   	 White tape coiler, with 14mm belt, length 5m	 2001661

		   	 White tape coiler, without belt	 2001663

ACCESSORIES

	 ACCESSORIES	  	 DESCRIPTION 	 REFERENCE	

		   	 Grey belt, 14mm width, 100m roll	 2001941

		   	 16mm white guide for belt, recessed mounting, nylon wheel, brush	 2001728

		   	 Grey belt, 20mm width, 100m roll	 2001943

		   	 Brushstrap guide - L16 - White	 2001732

		   	 Guide roll for belt with nylon wheel - 18 x 50 mm	 2001734

		   	 Guide roll for belt with nylon wheel - 27 x 65,5 mm	 2001724

		   	 Tape coiler PIV STAR ABS without belt	 2001637

		   	 White tape coiler, with belt 20mm, 5m length	 2001638



OPERATION BY CORD / GEAR

CORD GEAR

ACCESSORIES

	 GEAR	  	 DESCRIPTION 	 REFERENCE	

	 ACCESSORIES	  	 DESCRIPTION 	 REFERENCE	

		   	 White cord gear, ratio 1/3, without cord (20kg maxi.)	 2001672

		   	 Handle, nickel plated steel, 140mm arm	 2001873

		   	 White guide for cord, nylon wheel, 105mm guiding	 2001738

		   	 White nylon cord, Ø 4.3mm, 100m roll	 2001934

		   	 White guide for cord, steel wheel	 2001737

		   	 White guide for CORD ROLL STEEL BRUSH	 2001744A
			   29 x 41mm



ACCESSORIES

	 ACCESSORIES	  	 DESCRIPTION 	 REFERENCE	

		   	 Spiral spring - Length 250 mm	 2001613



 BALANCING SPRINGS

FOR DIRECT PULLING

	  DESCRIPTION 	 REFERENCE	

	 Balancing spring for direct pulling, maxi fabric 7 kg, octa 60 tube	 2008086 
			 
	 24/10 x 400 spring, 625mm overall length

	 Balancing spring for direct pulling, maxi fabric 12 kg, octa 60 tube	 2008087 
			 
	 30/10 x 500 spring, 835mm overall length

THE BALANCING SPRINGS 
…consist of a steel tube Ø 16 x 1.5mm, a spring, polyamide end caps and fixing elements .

Always mounted on the left - rolling seen from inside. Maxi spring tension 18 rounds

OPERATION BY DIRECT PULLING

AND BALANCING SPRING



FOR BALANCING

	 DESCRIPTION 	 REFERENCE	

	 Left balancing spring, maxi fabric 10kg, octa 60 tube 	 2008083 
	 34/10 x 350 spring, 625mm overall length

		   	 Bag including balancing accessories for octa 60 tube:	 9017304 
			   It allows a left balancing spring to become a right one	

		   	 Bracket for 16mm square or tube	 9017188

	 Left balancing spring, maxi fabric 30kg, octa 70 tube, 	 2008085 
	 49/10 x 750 spring, 1045mm overall length

	 Left balancing spring, maxi fabric 20kg, octa 60 tube	 2008084 
	 44/10 x 600 spring, 835mm overall length

Ø 6,2

Ø 6,5

Ø 4 x 32

44

17

55

Always mounted on the left - rolling seen from inside. Zinc plated steel shaft


